Leading joining technology M

Leading joining technology

SCHAAF’ SCHAAF"

PESeries

The Hand Lever Pumps from 1000 - 4000 bar
Rugged - Efficient - Safe

SCHAAF GmbH & Co. KG
Bruesseler Allee 22
41812 Erkelenz - Germany

Telephone: +49-2431-97770-0
Fax: +49-2431-97770-77

E-Mail: info@schaaf-gmbh.com
Internet: www.schaaf-gmbh.com

pted.

Data will change as developments occur.

Copyright as per standard 1ISO 16016.

HP-Series — low maintenance
and ready for immediate use.

PG22.hde4000.en_0121_indd_cn - Errors excej|

www.schaaf-gmbh.com




Leading joining technology

SCHAAF"

2| Hand Lever Pump HP 1000/1600-LT

PG 22 | (PG 22 B3893, Version 10/2011) Special requirements
i ui

7 {840) Please state further special wishes here:

Y

O\
//\ %, __—— Pressure gauge
NN\
Y

N W\ BL N . I
N W A | PR

___—Tank venting Retum-line connectior

XA e }—ﬂi M

%
r

Brief denomination

0|2 |2 X /
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
i i t
Pump version Den. Pressure connection Den.
Short version (max. 1000 bar) B3893 1000 bar | Coupling Socket CVK15 (674
Long Version (max. 1600 bar) F0298 1600 bar | Coupling Socket CVK16 C6
1600 bar | Threaded connection G¥:“ I1G 01
1600 bar | Threaded connection M14x1,5 AG 60° DK KA

Pressure gauge Den.
700 bar 070

1000 bar 100

1600 bar 160
Without (not recommended) XXX

Example of ordering
o|2|2|F|0|2]|9|8|x|1|6|0|/7|C|6
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
PG 22 Hand lever pump with max. pump Pressure gauge Coupling
pressure of 1600 bar, long version with 1600 bar Socket CVK16

Enclosed accessoires Accessoires Order No.

Operating and maintenance instructions Spare parts kit Class A B3893ES-A
Spare parts kit Class B B3893ES-Bx

x= Type dependent

Abbreviations
|G = Internal thread AG = External thread DK = Conical nipple BSP = British Standard Pipe




Leading joining technology

SCHAAF"

([ ]
_ Hand L P HP 4000-LT
an ever Fump -
PG 22 | (PG 22 A7881, A7138, Version 10/2011)
]
.
L? Falwre-iian conrmmtin
F . ..I
Brief denomination
0|22 ]A X /
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
T T 1 1
Pump version Den. Pressure connection Den.
Long version A7138 4000 bar | Coupling Socket SVK40 S4
Short version with removable foot A7881 3000 bar | Coupling Socket SVK30 S3
2500 bar Coupling Socket CVK25 c2
1600 bar Coupling Socket CVK16 C6
Pressure gauge Den 4000 bar | Threaded connection M20 x 1.5 IG 10
4000 bar 400 3000 bar | Threaded connection M16 x 1.5 IG 11
3000 bar 300 3000 bar | Threaded connection G%" AG 60° 12
2500 bar 250 2500 bar | Threaded connection G¥" BSP 120°1G | 13
1000 bar 100 -
- 1600 bar | Threaded connection M14 x 1.5 AG 60°| 14
Without (not recommended) XXX
Pressure medium Den.
Hydraulic oil: HLP ISO VG 15 HLP
Glycerine GLY
As required XXX
Example of ordering
o|2|2|A|7|1]3|8|X]|4]0 G|L|Y|/|S|4
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
PG 22 Hand lever pump with max. pump Pressure gauge Filled with Glycerine Coupling
pressure of 4000 bar, long version with 4000 bar Socket SVK40
Enclosed accessoires Accessoires Order No.
Operating and maintenance instructions Spare parts kit Class A A7881ES-A
Spare parts kit Class B A7881ES-Bx

x= Type dependent

Abbreviations

IG = Internal thread

AG = External thread

DK = Conical nipple

BSP = British Standard Pipe

[
_ Hand L P HP 1600-1S
an ever rump -
PG 22 | (PG 22 A0500, Version 10/2011)
_ 750 -
. al
i E
L]
[l Pressure gauge
o
o]
(G- O
Pressure fo— o
E connection — ? ‘T_—_—_
o o I~ Pressure release valve Oil filler / tank venting /
Retum-line connection
‘.‘a--‘.ﬁ-.ﬁ
LA a
y = T 1
Distributor
_‘r_ ——T —T
Brief denomination
0(2 2|A|0]|5 0 / X/ / / /
0 1 2 3 4 5 6 7 8 9 10 | 11 12 113 | 14 1 15 1 16 | 17 [ 18 [ 19 [ 20 [ 21 | 22 [ 23 [ 24 | 25 | 26
5 PN ?
Max. pump pressure Pump den. Precision pressure - Den
1600 bar A0500160 limitation valve )
Customer request (e.g. 1400 bar) | A0500___ iz el fpossltly e Ui o DB
50 bar - 1600 bar
The safety valve positioned on the inside is set
to 1600 bar. Other settings are possible upon
customer request.
Distributor disk Den. Pressure connection Den.
1 connector, G%"IG 01 1600 bar Coupling Nipples WVN6 W8/ pcs.
2 connectors, G%" IG 02 1600 bar Coupling Socket CVK16 C6/ pcs.
3 connectors, G%4" IG 03 1600 bar Adapter KA G¥4" AG/M14 x 1,5 AG/60° DK | KA/ pcs.
4 connectors, G¥%4" IG 04 —
5 connectors, G%" IG 05
6 connectors, G¥4" IG 06
Example of ordering
o|2|2(A|0|5|0|0|1T|6|0]|/|0|4|Xx|/|W|8|/|2|/|K|A|/|2|[D|B
0 1 2 3 4 5 6 7 8 9 10 | 11 12 | 13 [ 14 | 15 1 16 | 17 [ 18 [ 19 [ 20 [ 21 [ 22 | 23 | 24 | 25 | 26
PG 22 Hand lever pump with max. pump Distributor disk with  Connection provided with 2 coupling nipples External
pressure of 1600 bar 4 G%" connectors WVNG and 2 adapters M 14 x 1,5 AG 60° DK pressure-
limitation
valve
Enclosed accessoires Accessoires Order No.
Assembly tools for replacing wear parts Spare parts kit AO0500ES00
Operating and maintenance instructions Wear parts kit A0500VS00
Enclosed wear parts kit Spare parts kit Class A AO0500ES-A
Spare parts kit Class B AO0500ES-Bx

x= Type dependent



Leading joining technology

SCHAAF"

| Hand Lever Pump HP 1600-2S i+ | Hand Lever Pump HP 3000-HT

PG 22 | (PG 22 A0530, Version 10/2011) PG 22 | (PG 22 A4300 / B3200 Version 10/2011)

BTD

A |
l_'g-uura gauge Ol e I bamis veuting
; oo [ —q
' P o
_———Pressure release valve [~
— ruanelan o
__ Distributor biock Spare parts compartment %
E | Pressure connection 0l filler [ tank venting / ! '-]I -
] Retum-line connection f Wiy
T E .'II s .
: b
v L
Brief denomination Brief denomination

0(2|2|A|0|5[3]|0 / / / / / 0(2|2|A|4|3|0]|0 / X1/ / / /

0 1 2 3 4 5 6 7 8 9 10 | 11 [ 12 13 ] 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22 [ 23 [ 24 | 25 [ 26 0 1 2 3 4 5 6 7 8 9 10 | 11 [ 12 113114 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22 [ 23 [ 24 | 25 [ 26
Max. pump pressure Pump den. Precision pressure - Den Max. pump pressure Pump den. Precision pressure - Den
1600 bar A0500160 % limitation valve ) 4000 bar B3200400 limitation valve i

o p - p -
Customer request (e.g. 1400 bar) | A0500___ S E;(tsrnal :GZ%SZ'bIe etz DB 3000 bar A4300300 Egtzmm / possible adjustment DB
5 ar - ar 2500 bar A4300250 ar - max. pump pressure
©
< 1600 bar A4300160
The safety valve positioned on the inside is factory s P .
set to 1600 bar. Other settings are possible upon @ Version without pressure gauge
Ke) . .
customer request. % Version with pressure gauge Adapter Den.
Distributor disk Den 5 Pressure connection Den Distributor disk Den. 00008 | connecior M x 1573 50 2
istribu i . u i . " o
; ; e o %? T —— _| 1 connector M16x 1,51G 60° DK 09 2.500 bar | 1 connector G¥%" BSP 120° IG 21
connector, 2 I "
3% 1600 bar | e G AG W8/ pes. 3| 2 connectors M16 x 1,5 IG 60° DK 10 1.600 bar | 1 connector G" IG 20
2 connectors, G¥4" IG 02 =73 RS Sl tors M16 x 1,5 1G 60° DK 11
T L ; connectors x1, °
3 connectors, G%" IG 03 £L 1600 bar Coupling ??Cket C6/ pcs. 3 S I
4 connectors, GY4" IG 04 L CVK16-GYa AG" 4 connectors M16 x 1,5 1G 60° DK 12 Pressure connection Den.
Adapter KA G¥%" AG/M14 x 1,5 1 connector G%" BSP 120° IG 05 [— Coupling Socket
5 connectors, G%4" I1G 05 1600 bar AG / 60° DK KA/ pcs. @ " S 4000 bar ping S4/pcs.
- Q| 2 connectors G%" BSP 120° IG 06 SVK40-M16 x 1.5 AG 58° DK
6 connectors, G%" IG 06 Sls tors G4" BSP 120° IG 07 Adapter MA M16 x 1.5 AG 58
L connectors G%4" ° apter x 1. °
Supply / return distributor VR & 3000 bar « R MA/ pcs.
POy 4 connectors G¥4" BSP 120° IG 08 DK/ G%" AG 60° DK
_| 1connector G¥%"IG 01 2500 bar | Coupling Socket CVK25-G"4“ AG BSP 120° C2/ pcs.
‘:; 2 connectors GY%" IG 02 1600 bar | Coupling Socket CVK16-G%“ AG 60° DK C6 / pcs.
. ) 1 1600 bar | Adapter KA G%“ AG/M14 x 1.5 AG/60° DK | KA/ pcs.
Example Of orderlng 3 3 connectors G%" IG 03
4 connectors G%" IG 04
of2|2|Aj0|5|3|0|1|6|0]|/|O0|4|E|/|C|6|/|2|/|K|A|/|2|D|B
0 | 1 |2 1 34156 7 [ 89 [10] 11 121314 15| 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 Examp|e of ordering
PG 22 Hand lever pump with max. pump Distributor disk with  Connection provided with 2 coupling sockets External
pressure of 1600 bar 4 G'4" connectors, CVK16 and 2 adapters M 14 x 1,5 AG 60° DK pressure- 0 2 2 A 4 3 0 0 3 0 0 / 1 1 X / S 4 / 2 l M A / 1 D B
individually sealable limitation 0 1 2 3 4 5 6 7 8 9 10 [ 11 1121183114 | 15 | 16 | 17 | 18 [ 19 | 20 [ 21 [ 22 [ 23 [ 24 | 25 [ 26
valve
PG 22 Hand lever pump with max. pump Distributor disk with 2 SVK40 coupling Socket and G%“ AG 60° DK adapter External
pressure of 3000 bar 3 M16 x 1.5 1G 60° pressure-

Enclosed accessoires Accessoires Order No. DK connectors mc:tlon
Assembly tools for replacing wear parts Spare parts kit A0530ES00
Operating and maintenance instructions Wear parts kit A0530VS00 - -

Enclosed wear parts kit Spare parts kit Class A AO530ES-A Enclos.ed access.owes . _ Accessowes. Order No.

Spare parts kit Class B AO530ES-Bx Operating and maintenance instructions Spare parts kit Class A B3200ES-A A4300ES-A
x= Type dependent Spare parts kit Class B B3200ES-Bx A4300ES-Bx

x= Type dependent



